
  ( . .ఎ)   

(  )  ౨౦౧3 

౬ వ        2 1/2  

       ________ 

 _______________________________________ 
   

 

    

  4 7 9 11 15 1 2 12 5 8 13 10 14 16 3 6 17  

                    

 

 

      

I.    

1) ఏ   ౭౫,౪౫  ౬౦      ౪ . 

2)  ఆవరణ     2  !! ల  ,    

   !!ల  ,       . 

3)           , ఈ 

    

 -౮ ||   - ||     - ౧౨ ||   -౧ || 

II.    

4) ఒక    ఒక  ౩,౧౨౫   ,     

  . 

 5)  ,       

6)  ఒక    , ,  . 

7).(-20),(-82),(-28)  14 ల  ? 

8)   ‘X’    ,       ౩   ,  

   . 

9) X-4=2   . 

10)          . 

11) 4/7,3/2 ల   ౨/౩  . 

12) 1965  ఏ    ౪    ?  . 

13. ఒక               

. 

14.   ‘ ’     . 

 



  

 

15.   

1.      ________________ 

2. 79 X 101 =___________________________ 

3. 40,56 ల గ. .  =______________________ 

4.   ఒక _______________ 

5. 2X + 6 = 0   _________________

16.     

1) ½ + ¼        (     )    a) 1/4 

2)       (     )    b) L,m  

                   

3 L  m      (     )     c) 1/8 

4       (     )    d) 0.75     

   

   

 

 

 



17.      ( )   

1. x  3  7                             (    ) 

 a)X-3=7  b) X+7=3  c) X+3=7   d) X-7=3 

2. 29,307           (    ) 

a) 20,000 + 9000 + 300 + 70 + 0      b) 20,000 + 9000 + 300 + 0 + 7 

c) 29000 + 3000 + 0 + 7    d) 29300 + 7 

3    

 .   (    ) 

a)  3 + 2 =5           b) 5-2=3          c) 5-3=2         d) 5+3=8 
 

4.     ‘O’        (    ) 

 

 
a)    b)   c)  d)  

 

5.            (     ) 

a) 2n + 1          b) 3n        c) 2n-1         d)2n 


